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I 12 mwn: status of animals which bear young that look like another species
a  For purposes of 1192 nw17j7. if a cow bears a donkey-looking animal or a jenny bears a horse-looking animal — 1108
i Reason: double mention of 1mn 9va (vv. 1, 2) = both mother and young must look like mmnn
b For permission to be eaten: if a n'mnv nnna gives birth to a nknov-looking young —amn
i But:anrnv that births a 19nv-looking animal — 1ox
ii  Rule: that which comes out of a N1V is 11nV; that which comes out of a NRNV is RNV
I Analysis of our n3%n w3 (NN TVA: NN V1) as against basis for N:1 — 17NV NN M2 must look like mother
a  However: if it has some similarity to mother it is 2'n, based on & (ibid)
b /7w 27 source is v. 3, M1 must look like M etc.
i But: in our mwn, n"va was used for n19
it Answer: Xn71 follows 2”07, who maintains that the n1n established principle re: namn »w1p and applies to 2072
1 Whereas: our ®in holds that it was taught in re »'n7 nw1Tp and we apply it to nam nwyTp
¢ Our K uses v. 3 to teach that 1132 "R are burnt and we justify each of M, was and 1y
i 7. couldn’t inform the others, as it has the largest 0’203
ii w3 couldn’t inform the others, as it has the fatted tail
ili  7¥: couldn’t inform the others, as it is used for nxvn for 1"y
1 And: we couldn’t even infer one from two
2 7w couldn’t be inferred from 1 w1, as they (alone) are used for nos
3 wax couldn’t be inferred from 1 MY, as they (alone) are used for 11ax nrovn
4 v couldn’t be inferred from w12 71, as they have great gifts to nam (1w »o0), fatted tail of wad)
iv  27p7 if so, could just say 1 2w ;1w 7132 — the addition of M2 before each teaches that 1132 must look like ox
d 2777 uses vv. 1-2 to teach, in spite of v. 4, that only n™mn »va — and no other NRNY NN — require P19
i And: second mention blocks possibility that other mxnv mnna have 119 — but don’t require nw
ii ~ Challenge (’#n& 77): had it said n"va once, we would have reasoned it to be Tn5%% 9550 10 ®¥" 5951 AW 727,
1 Which would then: inform that all mR&nvY mnna have nwa 11719;
2 Now: that it says n"va twice, the second one takes the n® away from other mxnv mnna — but still need 1110
3 Answer: if so, let it say 1mn (alone) the second time — without "1va”
4 Rather: the double mention of 11N 708 completely excludes other mxrnv mnna
iii 777 X217 learns exclusion of other animals from vIa1 %93 (v. 5)
1 4777 maintains that 90a breaks up semantic flow = no v %93
2 237 the v (nwY) reconnects them
(a) 2777 let it omit 104 and the v
(b) 227 it had to separate NNV NN M2 (90 NWITP) from ARV NRN2 M2 (DNT NWITP) — then to connect
them via the v
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I Question posed: expanding on “wrong birth”

a

If: a nma birthed a donkey-looking calf with some 711 "11n°0- 2N or not?
i background: the nywn rules that if a ewe births a goat-looking animal, exempt, but if there are some n’n'o —27n
ii  lemmal: there, both 1y and 9N are nnvY and have n71222 90 NVITP; here, 1 is gn nwITY, the other -omT 2709
ili  lemma2: both n1a and Mnn have nM21 nvYvIp 2 arn
1 if: we accept lemma2, what if a mnn birthed a horse-loooking foal (w/some n10)?
2 Lemmal: the other (horse) is not N71311 WP 27109
3 Lemma2: they are both nxrnv nnna >arn
(a) If: we accept lemma2, what if a a 119 birthed a horse-looking calf (w/some n1a »110)?
(b) Lemmal: 1 has qun nv1Tp, the other has nothing >7109
(c) Lemma2: the fact that it looks a bit like a 099 is sufficient
(i) Proposed solution: Rm»12a — if a NkNY births a nMnv-looking young w/some 0110 — na»n
1. Assumption: doesn’t this mean our case — N4 birthing a horse-looking calf?
2. Rejection: it is a na birthing a donkey-looking calf
(ii) Proposed solution: Rn»11 — if a cow births a 7mnish calf, or a 7yn births a vivish foal —va
1. And: if it has some D0 like the mother — 20n
2. Assumption: this last clause applies to both
3. Rejection: only applies to the first case — 079 birthing a donkey-like calf (w/n”1>0)
a.  Challenge: why introduce the 27 case at all? To exempt? This should be obvious:
i.  If: a cow birthing a donkey-looking young w/o nnn’v is exempt
ii.  Then certainly: a donkey birthing a horse-looking foal w/o ’n’v is exempt
b. Answer: the exemption was needed; ;unlike 1+t case, where the mother has horns and split
hooves and the young has no horns and cloven hooves; here they are similar — 5"np

IV Analyzing 2" clause in mwn — permissibility of eating these “wrong” animals

a
b

C

Question: why did the rule need to be added (...xxvnv)
Answer: it is just a mnemonic — to focus on identity of mother, not young
Source: v. 6 implies that there is a nv19 ©19m 1 NYYN that you may not eat — 71nY born of xnw
i Challenge: perhaps it is the opposite — 8nv whose mother is 11n1v? — and verse alludes to mother
ii  Response: identifying Ynx in verse = only 903 is Xnv, not a k1Y born of a NMNY
1 Dissent: ™ - source is vv. 6-7; repeated mention of Yn3 — whether it is born of a non3 or of a N9
2 j237: use 27 9y to prohibit its milk
(a) w”r prohibition of milk is from "mn nr”
(i) 227 donot interpret the word ni (per story w/monyn nynw and y™ - v. 8)
Question: without 5m1 (or Ym0 nR), we would have permitted nxnov 29n? Why not invoke nxnvn (v. 9)?
i Answer: X"10 that any milk is a w110, as it is transformed n1 = even NRNVT 25N is AN - 5"NP
ii ~ Challenge: there is an opinion that it doesn’t come from transformed o7 - why the need for Ynmn nx/9na?
1 Answer: 1007 290 is still a wy7n — that it’s not 'Nn 0 AR >9"np
Challenge: what is purpose of n1178, 19w and 9tn being repeated (®’ X1p” and 7 ©"a7)?
i Answer: animals area repeated for n»1ow; birds for nx1
ii  Challenge: perhaps that is the reason for Y1 Yn3 as well — and not our nwI1
1 Answer: wherever we can identify a more detailed nw171, we will

V  Investigation: source for permission to drink nmnv a5

a

b

Proposal: since the nmin forbade n"aa >milk must be 1N

i Rejection: perhaps 1oR is extension to nRin (and, v"1% — for Nwr1)
Proposal: v. 10 prohibits a5n of n”moa 225n of pYIn is permitted

i Rejection: perhaps that is just a "R IM°N (re: N”MDA — NRIN2 NOR as well)
Proposal: v. 11 lauds selling 29n

i Rejection: perhaps that is only for doing business, not for drinking
rather: v. 12 describes 17T as bringing cheese to his brothers at the front

i Rejection: perhaps that was also for business

ii  Block: people don’t conduct business at the front

alternatively: v. 13 — >R is lauded as wam 25n nar pax; wouldn’t be praised for producing 1o
alternatively: v. 14 directs people to go eat...wine and milk!
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